


LET US LOOK AT THE FUNCTION FIRST BEFORE
THE INVERSE OF THE FUNCTION

* EXAMPLE

- * y=2x%or f(x) = 2x?

" GRADIENT

Variable( changes at different points because it is a curve)

INCREASING OR DECREASING FUNCTION
Decreasing Function for values of x < 0
Increasing Function for values of x > 0




LET US NOW LOOK AT THE INVERSE
FUNCTION

IMP REPRESENTS a y-value still as f(x) did.

~1(x) istheinverse function notation of the inverse of f(x)

* XBECOMESY and Y BECOMES X

* THIS MEANS THE FOLLOWING::
* DOMAIN OF THE FUNCTION BECOMES THE RANGE OF THE INVERSE FUNCTION (and vice versa)
* THE Y-INTERCEPT OF THE FUNCTION BECOMES X-INTERCEPT (and vice versa)

HE LINE OF SYMMETRY BETWEEN THE FUNCTION AND THE INVERSE FUNCTION IS Y=X
'NEEDS TO BE IN THE FORM OF Y=......OR f~1(x) = ---.



LET US NOW LOOK AT THE INVERSE
FUNCTION

y = 2x% or f(x) = 2x?

We use y = 2x?
1. X becomes Y and Y becomes X

x = 2y?
Change to the form of y = ....
x = 2y?

- f_yZ

- ASYMPTOTES
iINVERSE FUN @ None

DIN
' GRADIENT
Variable( changes at different points because it is a
. curve)



LET US Now LooK AT THE INVERSE of THE FUNCTION
GRAPH .




COMPARE THE FUNCTLON To THE INVERSE GRAPH
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INVERSE OF PARABOLA

Axis of Symmetr




C. Deteri

d. Sketch f(x) and (x) ¢ , ot of axes. Also include the y=x (axis

of symmetry) as well.
















mes y and y becomes x




